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/ eLF ASSESSMENT 3
(/ A #ﬂagams \ﬁeonem :

’oEtN A RIGHT TriaNgLE, Tye SQMRE:

THE HY{POTENVSE 18 EQUALT
9VM OF Tig SQUARES OF Thg OTHeR

\ 5
QIVEN: A TRIANGLE Asc 1N NHICH /890"

gpgove AC®=AB*+ 8c*

CONSTRUCTION: BDLAC i
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AC-AD+ CD-AG = AB>+8¢”
= AG[AD*+ D] = AB™ B¢

e e o N TP
~[Ac™ AB™ 8C7) 1338 o

j“[(?nﬂe /]))w\/ei

R . o

':3?33'
|



Excellent
39&52‘?&@&5&&@&0&%«0&\1&

average l&iﬁf ;xoﬁaenw in metmg all crxfena

. ouﬁmed

Fair

‘1mmmmmmmm lwmmmdmmtmammmm

ofproﬁamwmmeemgmastffﬁmnm pmﬁumwmmeetmgmmofﬂmmtm
uvtimad clow “ outlined below

Students demonstrate knowledge of the comract
ise of the Pythagorean Theorem through use of
korrect formula, substitutions and calculations.

The student correctiy uses and demenstrates the
Pythagorean Theorem to calculate the missing
side of all constructed right triangles.

|[Know parts of a right triangle Excellent Good Faxr
dents demonstrate knowledge of the
_dropriate parts of a right triangle. The student has correctly drawn and labeled The student has comectly drawn and labefed The student has correctly drawn and labeled
every part of the nght tnangle for each of the every part of the right tnangle for at least three  mast parts of the right triangle for only one of
five routss on map, of the routes on their map. the routes on therr map,
Use Pythagorean Theorem Excellent Good Fair

The student correctly uses and demonstrates the  *The student correctly uses and demonstrates the
Pythagorean Thecrem to calculate the missing Pythagorean Theorem to calculate the missing
side of more than three of the constructed nght side of one of the constructed right triangles.
triangles

Shapes in model construction
Etudents demonstrate the ability to use the
knowledge of shapes to construct a model,

Excellent

All of the shapes used created an appropriate
representation of the fnod=l and aided in finding

. sclition o the problem

Good Fair

shapes used creat
representation of the model and aig j sentation of the model end aided in
a solution fo the problem. 3 sclution to the problem.

Most of the
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paper.

dhmql— papert , SKeH:hpem geoméma box anqu,uaﬁed

Proceduu : a Lo s dind Hhe Sum of Jinsk 16 Nalital numbesxs [-e.
1+2+45..- %10 - Hete n=10 ardn+1=14

1+ Joke gstd 4f squased pape ofdize d0x11 and pashe I onachtjdpapw
2+ MoK the Squait es bgiig,a,m ;10 6N dsyt Sioe of verthical Ling
the 3cwmwb3 452 5i0 11 on the horvizontal Aine

3. Use SKel-d')an.s zhade ﬁed’b.ng’tu Rl JMBHJ tqueal 1o 4em 2cm Joem g.
dam wudih each. l

l i e e L — .‘

Obsevvakion : The shaced axasa 3 one hoi] ¢f the cohole aviea -of- the Squaxd
papet Taken- Jo dee ﬁué cul the Shagled pochm and place T+ enthe .9~lemoum@
pa.'rﬂ-g Jﬂ‘m8ﬁU°d~ The student )il ohsewe Hhat i comp)el—da Coverts +he 8\*?01-

Astea of whole Squasted pape is 10x11 em?
el Avea of shaded porHon i (d0x11)/2 em”

This verijTes that | 1 n=10

_Ruwi-: Studens wwll beable]bb-fnd Sumaan,a number ¢ nauwrtal numberd
pfchﬁallg-
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A

The magnification of an image formed by a lens is - 1. If the distance of the image from the
optical centre of the lens is 25cm, where is the object paced? Find the nature and focal
length of the lens. If the object is displaced 15cm towards the optical centre of the lens,
where would the image be formed? Draw a ray diagram to justify your answer.

Given :  Object distance(u)= -25cm
Magnification(m) = -1
To find : Nature, focal length
new image distance.
Solution :
M= -1 This means that image is real and inverted and of the same size as the
object.
So Object distance(u) = (v) 25cm on the other side of the lens. Object is at 2F;
f=1/2x25 =12.5cm  Focal length is 12.5¢mNature: Real, (nverléd
(b) When objected is diplaced 15cm towards the lens: 25-15=10cm
new u is - 10 cm. Now the object is between F1 & O. The image will be virtual ,
erect and magnified.
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speciféc ﬂu;x Numericals have beeo solved .
youx peex Aas doye wel/| Ray oﬂéajn’m éovery neak .

2.|Specifec Things your | units Aave not beco sovillae -

peer counld have olove Avvows have not betn Shown.
bﬁl‘&-{ 4 o&'a.amm does nfn‘ show Posiffoo,
nalive aod sae.

s RTsEBa] Y - :
peex ooo,[izgu © Showld rereercber b Pw‘ /i
0 U.'l’)t.’Ls

&n ymaktn ﬁ InC 2y Should /D—rnclcc;z more Ao

ckmagcs /Lefxfecf

\—,Dn r’ﬁpu.,ﬁ' erQ’n.‘ ’ /‘/KDI‘LDJ f/J-21 e




